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Explanations to select answers

1. (B) Action going on at the time of speech.
2. (A) ‘Students’ is plural, so ‘are’.
3. (C) Natural truth, hence, simple present.
5. (B) ‘B’ is correct. The word ‘all’ together with ‘silently’ indicates completed action; hence,

drank. ‘A’ is rendered incorrect as a habitual truth because of the presence of the word
‘all’.

6. (C) Possessive pronoun – theirs
8. (D) Possessive pronoun.
9. (C) The blank requires subjective pronoun ‘She’

12. (D) ‘D’ is correct, especially in the absence of any punctuation mark.
31. (C) ‘C’ is correct. ‘B’ could have been correct if it would have started with a capital letter;

although it would not have been polite enough.
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